o lall dugiladl dual gl polosi] & aldme jbuens!
bl jgall — Yo VA/Y oY (gl yall olall |
(adialadl dill) il pogllly unsloaadl -Baldl ot

gage ity
Yo VA A/ Yo« ayladl
»\ 3 ik (YA) dual Il ladd a5
wilohe mite : aladl go) Gilakea (£) wi¥uil] iV
<« L | ol il s
Lo o yadl i d o SI1 ol i il o aSLallg
salpdl | yadadl 2 il R ol eeee o
b gl & 900
e
o gud | gy
: w_?!)_IJ ole Lozl
dadaa (YA) ! ] ilnid s goiniel] ol g ol g gl 139
Cilaka (£) cithill ity ol il st yall o] alimds el | gl | gy
sl dlgiuss il g T g9all — Yo VA/Y VY sl yall ol
el ] ki i i g g (i) 2l ) ! gl b hgual - Bald
Yo VA/A/Y o @)U'
O gage il W Abadl geo)
[ (Gl ) I o
L a3yl 1 S
o bl :u;.‘ \ ‘L‘ v_;)
LY ol G i ol g
Ly | el S il st diilaog
el o e ! i

CIA 7 (VG o)l - A=alyol) dulinl) A



L 51 - (g 3-elady W ASUILY) Ao o ghatt g Liom o8 5riomdl - Yo NA/ Yo AV (oaal 5l0) Lt} - Aot 2y 63101 Zhcal 5ol ALY B3 Lokl

daga Cilalas ]

s (£0) Glaie¥) Al S dliuf 2 -

Aadia (YA) glaie¥) dul S Cladia 2o -

i e g8 (laiel) dul S Ciladia 23 ey ALY a5 e S -

(el EDE) LAY e -

A () JbaaSU A ds Al -

p Agliag claglatl) oda 181 -, Qllal) g 550

ALY el g s s AluY) dadie ol laie¥) Al S dadie o) g 1 cilagledl) T80
Ala) (o) J8 Tas 4 6 dling J)ged) T

g JS (o e Ban) g dady LlaY) qigthall g ¢ zladd daa jia Al

Y e bl ade g ola gyl b alia Al ¢ AU (351 Calad) Al aadi)
Al dalall Al s Uladl dacadiall dalwall 8 conl Adlaal) Al WU elils) 2ie
Go S elila) )5 ¢ Ll 5 GY) e 5 gusall Cladia & e JLSE ) (S 5 A
- W i s A

rJla

b (B) i (A) e ol ELaa ! Alad) ALY fe elida) aie
ra g Of e (a JEAY) Aliud (e dijla) die 8
e S0 SIS Sl G mecall 0lay) e J1all el cld 5 jslall Jik
Mia (C) danual Aa 10k

: Aaauall Aday)

®Oe®

Annia LY cad dagais Al Cualy el a5 (s s a1 Ledlls A -
Lot ) et Uad Als) cuals udailly o 2 ¢ dapna Ala) a3 Le s 4 -
; A gala
a9l ey cre ST e Sl a3 13) (daia G SLEAYY) de gun gal) ALY A B
ad 4ay) el ¢ AlaY) ) S
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Answer the following Questions: PAGY) AL e o
1- Answer one the following (A) or (B): 1 (00) 91 (1) (13t t m yidnd - )
Write the scientific term: role JIA elal! pllaal COS)
(A) The breakdown of rock masses into Lo yhuol glad I jsouall s (1)

smaller fragments of the same mineral | cow ,sall @ gSeli Galast! uis e
composition as the original rock or O3 Agacdall dygadl Jalgatl pils
decomposition of the rock into its et gl LI LS )5 B i

constituting minerals under the effect | wie ossiy st cdie )il dsa ()

of physical weathering conditions St ol Hlea¥iolos slant!

without change in its chemical or 0s Aol Lo cowyid Ol iy

mineral structure. ol
(B) A Land form of triangular shape,

which formed when rivers joined with

seas and lakes, the load of sediments

that the river carry will be deposited.

2- Choose the correct answer: 1 JaG8 Aseouall Aala Wi s - Y
All the following are primary geologic AT ST o b Las 35 Aay
structures except .......... | e e Lo

(@)  Mud cracks actanowa ()

@ Ripple Marks et Slede @

@ Joints s gat @

(@  Gradded bedding PRI €

2 AL s
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3- Justify the following: 1A Lt Yo -
Gabbro differs from basalt, while both O el SN Ge gplatl ating
) . §Puaedl Lagas )5 aslas
have the same mineral composition. (oS S Bt g Al 2550
Gabbro Basalt
gmlxdt cdyldi
4- What is meant by: t ) Aguadall Lo - ¢
Specific of mineral SOuaell e g1 (381!
5- Compare between: Lo (ol -0
Overgrazing and the over hunting, i (30) bt il g lantt e
concerning definition only. (dazd Ly paid
Overgrazing Over hunting
JUPRIIPSU JUPRTNVIRY
3 AL
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6- What would happen if..................... s Loctie Grdomy 130e -1
There 1s scratching between fluorite and $3Lagi Oty Copyglad| Outne il
topaz minerals.

7- Answer one the following (A) or (B): 1@ (@) o (1) oV udt Al 500 -V
Explain: a1
(A) The rock salt layers had accumulated | o1 @sf a1 ey g ath o Lo -
during the Permian period occurred in | o2 grsatiplotiolath ¢ Si,5
central Europe. o) uaall 2 L)l

(B) Determination of the Location of IS e B9 Aadh iy -0
Epicenter of an earthquak.

4 AWl gl

CIA 7 (VG o)l - A=alyol) dulinl) A



L 5901 - (A 3otlod W1 AGUILY) Aird o ghatt g Liom g8 guont) - ¥4 VA/ ¥+ WY (ol yAM pLad - Aol Ay 3L st 51 ALEH B3lg G onh

8- “If we started with an amount of OLadilgt (ye ma 0+ + Lot IS 131, -A
phytoplanktons that weight S00 grams” - AL
From the previous statement answer e el Byloatt 00D £ gl B
the following: PASY ) Al

Ao 11 s e o 65 o 1351
A gt Sladlglf B AL

Cpe lalS B> lg aleats » 830 :L0L
B TRCSN {PNES (R V.Y

a- Calculate how many grams of it will be
move to the following trophic level in
the zooplanktons.

b- Give one complete marine food chain.

9- What is the importance of: s Akani Lo -4
Photosynthesis process for continuation of | skt sy oSgali sl dlee
life. Sua)¥ e
5 AL
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10- Answer one the following (A) or (B):

Write the scientific term:

(A) Those resources are constantly
available in the biosphere because of
its ability for continuity and renew
unless man causes its extinction or its
depletion and deterioration.

(B) They are chemical industries basically
depend on components or oil
derivatives, which produce most of
what man need in his life and those
product synthetic fibers, detergents,
dyes and paints.

1@ () 91 (1) o1 3ud ) s sl = »
rle JIA elalt mllamal! COS)
Anidall 85,01 e JIaS sl et l -
Lo ity 5l i ¥ ol L juat
O el B Olud ¥ oy @
Lo gy Lgd il gl Aled!
ilast! Oleliall 4o Ac geme—o
Olatdis g Ol gSe Lgculoul it
elass delio B Clay Jg it
LAY Lgiay Olad ¥ ax iy Lo
.+ MIal 3130 g Olalaial g due Liall

11- “The concentration of the salts dissolved
in the sea water varies according to the

surrounding climatic conditions”.
Discuss this statement in the light of what
you have studied.

12- Write the mineral of each of the
following statements:
(A) A mineral scratched by copper coin
and can’t scratched by the finger nail.
(B) A mineral attracted to magnet and is
used in the steel industry.

L;_f:');-._ﬁ_“b‘g_\_ﬁb‘pbjw»-\\
N Z.Ya:u-ud"cw‘djjﬁl
Lo ¢ gid (-8 3 ycatl ola (LB

o

Cew ya

,‘;,..js‘,u«.m.um.u.m wl CGS 1 -\ Y
¥y dcwlond dlony Adis (HSes Otas -
Il Adus (S
P g o lidell Qiia Duas -0
cially aaust ) debis 8

6
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13- Give reasons: 1o Lot coraalt S0 -\ Y
The study of animals and plant fossils is A gt ALY Ay pad
one of the evidences supporting the theory | il saugell aalsall axi a5l

of Continental Drift. A By Y
14- What are the results of: role A el EON B Le -\ €

Collision between two continental plates, | (weswsS umsd G colaS 3929

give example. (Jlie 585 ps S pa 1
15- Choose the correct answer: 1038 dovuall dala W1 yis -1 0

When the temperature becomes somewhat | awtis ;e syt a s 09S5 Leic

unsuitable in the medium, ............ - oM IS dd uas G dawghl B

revert to cyst formation. UL PPN [T P [ BN P
@ Bacteria LS @
@ Protozoa WP A CIPVR | @
@ Insects REAPO. LY @
@ Reptiles i (931 @

7 AL

CIA 7 (VG o)l - A=alyol) dulinl) A
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16- Answer one the following (A) or (B):
Give one similarity and one difference
between:

(A) Peridotite and Rhyolite
(B) Sandstone and table salt rock.

12 (@) 9f (1) Gl 3uadt i i) -\ %
Ty AgLBT g Ly TS|
e IS0l
NEUR PN [PYCUE PRV (B
Srallalalatizlog Lo I yommtl -0

Similarity
PHFAT

Difference
AW

CIA 7 (VG o)l - A=alyol) dulinl) A
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17- Study the given figure and answer the

&G%GMQJQ‘M‘WJA‘ -\v
z'&.ﬂﬁ"'&.ﬁu?!

following:
(2
k= - = = - o o -
h-.--h‘.- -h‘ﬂ-ﬂ--

nnnnn

3)

(A) Write the name of the geologic

structures (2) and (3).

(B) The type of texture to be mentioned,
if rock number (4) is a mud rock
subjected to pressure and heat due to
the intrusion of the igneous body (1).

O S50 (€501 sl 81 <Y
(¥) «(Y)

Wl B il gt g9 S50 : L3S
Q.QEJL‘«Q (i) ‘nﬁ)):'ua."()\s XY]
3y, gdorial (o ol do po
(V) GOl caS T 5 1S Ao

m&t&;u

[N/ CAIV il joadl - G=alypol) dulinl) G
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18- Explain Briefly: bl b g a) -\ A
Degradation effect of ground water: Sl ¥ olioll eugll Joall

19- Answer one the following (A) or (B): 13 () 91 (1) o1 3l ) A im0 =14
Write the scientific term: 1ole JIA elal mllaaalf COSY
(A) The branch which is mainly G L g gl oo g g0 (pa g o ]

concerned with the study of minerals, | ©:bed! -l duin 2 coo
their physical and chemical properties | “==' #=lidll Leailazs
and the forms of their crystal systems. s s M'”“f
(B) Fractures or cracks cutting rock masses "‘f’am e “‘S""" !
and accompanied by relative movement NPT A 04

. rT SO PN I PPN [T 31
(Displacement) of rock masses along "::ub_ s
. . € el Aodigiall Hgiuall dowd

both sides of its plane.

eSI) (6 g

10 LA 5
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20- Answer one the following (A) or (B):
Choose the correct answer:
(A) Limestone as a constituent of the
earth’s crust is classified as:

@ Silicates
@ Sulfides
@ Carbonates

@ Oxides

(B) The ability of mineral to reflect light
that falling on its surface.

@ Streak

@ Hardness

@ Luster
(@ Colour

21- Answer one the following (A) or (B):

102 () 9 (1) O guadt | 25t =Y
1dadd Aovoall dala B i

2 392 9ol G| ol piy -

Lo gama (paids dicin ¥ 5 piat

W) (9)3; (1) O 15t s f 5t =Y

What is meant by: 1) 3 guadiall Lo
(A) oil shale. il Jatal i
(B) Lopolith. et gl -0
11 At &b
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22- What would happen if..................... s i Gty 13ke - Y Y
Eroding the agricultural lands. $2ue 3 Ay i s
23- Justify the following statement: ik Lot Jle -YY
Although colour is the most obvious wilao 180 g Guaetl Ogt Ol 08)
property of minerals, it may not be very | buws &eea¥I alud adis &1 ¥l ls g2y
useful for their identification. Oalastl e Byl 2
12 LA 5
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24- Mention:
One similarity and one difference between:

Oxidation process and acid rains.

YR T

JEYRRRIE- 3 i, VR Hb dslanly Lé;:j

ddnastl jlae ¥y 3 uSY I Alac

Oxidation process acid rains
BuuSY ddac At Hllae ¥
similarity
aslasdy
difference
@M

13
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25- Study the given figure and answer the e (e ool @l T St (uyat - YO

following (a) and (b): an
R e e e T Continental plate
C Golazy
Oceanic plate —
Gasmazyt =
(a) Mention the type of the tectonic Hiha | A 53550 Sy 85 ey + ¥ ]
movement represented in the given figure. 3yt YLy
(b) Give one example for the rocks that 13501 jsiall i1y Ylie CoS1 Lo
forming (C) and one example for rocks | ssseatt sy ¥1ie @3 (C) 2
that produced from (B). (B) s amtas
26- Write briefly on: 1o el b caS) Y1
Herbivorous animals as an example of AUl | SLOISY JLiaS codial| ST
consumers on desert environment. A gl pouall Lol A stiald
14 LA 5
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1 Cewyd Lo HSHY =YYV

27- From your study, explain “Solving the
— o pead | a3 AlSGe £ e (B ybo

problem of spreading urbanization”

1Sodona 1300 - YA

28- What would happen if ................
Two groups of sedimentary rocks, the
older group layers which are tilted and the

younger group layers are horizontal.

Sladall (b0 A gome (95T Leie
0 degamn Laglaiaile p_L__B‘ZN
Sa@a¥ I oladalf

15 LA 5
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29- Write the number representing: 130 JS le JIAN @B ,31 CaSh - Y4
(A) Density of inner core. A Il ZaLs
(B) Thickness of the mantle. ot dew -0

30- Answer one the following (A) or (B): 1@ () 91 (1) o) 3uadt A pnt ¥
Explain the following: !
(A) The generalization of planting a single | >*2 Sle07! sresd getadl 31

< th . -J gl
crop in the same soil. ' Ll al g Sle 3 yle o
(B) Solving the over consumption of
water problem.
16 LA 5
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31- Write the scientific term: 1le JIAM elall pllaaelt COSH Y
The Conversion of animal and agricultural | olssd! Slabe dags e g3l a1
wastes to gas which is used as fuel. 39858 pasiually duel 3 Glalelly

RPFESNIPY: IRV YT

32- Justify the following: 1A Lt Jle -¥Y
The body of the Sphinx, which was i Ll - J st 5ol mlaw 55t
smooth surface during its construction, ~Legud-ols Lodies G5aAl S uolal!
but now it is fractured and rough. Y yhiasy pule!

33- Choose the correct answer: :daG8 Asouall dala Wi ) VY
Green plants which converted light energy | gssa ot s)asti oot s
into chemical energy are considered as: s TheeS Wl ) Auclad ¥ A3 UATI

(@) Consumers erat astgie custs (1)
()  Producers ettt aoiie olits (D)
(© Decomposers Albects ()
@ Saprophyte ey olils @
17 LA 5
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34- Study the given figure and answer the
following:

e

sediments

hthlﬁcatlon
(2) 7§
@ <=7 3)

metamorphic rocks
M}:su: )3_,,_‘@

(A) This figure represents .............

x%;pﬁ‘;’m‘m‘ oayd =Y ¢

§ St 1 e f3le ¥4l

(B) Write down the name corresponding | (1) o= dS e JIa @u ¥ Cs) - Lol

to each number 1, 2 and 3

18
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35- Answer one the following (A) or (B):

Compare between:

(A) Epiorogenic movements and orogenic

movements- (two points only)

12 (@) 9l (1) ot uadt iy -Y0
1o (L8
AT SO (PRARIE-RE BT W RCAT O [
It Ju Shat 2oL

(B) Divergent plate motion & Sliding (dazd (yidasiy A1)
(Transform) Plate Motion SRV PAIAS 1y “am-eﬂ"*szf-ﬂ o
(concerning: definition) A0 IS 719t

(2t Co (ga)
19 Al &b
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36- In the given figure, number (1) is 1T L JS2d1 -1
representing the water table in a land B olead! s g (V) @B,

sector. ()] gliad

ot

a- Which number (2) or (3) represents the | s cladat! ey (uead 1 Xy
unsaturated zone with water?. () 91 (Y) oleatls daciiald

b- What is the source of these underground | -&ses¥fslead! LG suas 5o Lo Lol
water?

20 LA 5

(A / £V Qi jgall - Gsalpol) @ylinl) @A
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37- Answer one the following (A) or (B): 1 (00) 91 (1) o1 3uadt A it =YV
Write the scientific term: 1ole JIA alall mlaaall COS)
(A) A huge vast landmass started since 220 | 315292 <5IS Gily 28eatt 3,la11

million years ago to split into pieces | O 8 S ple Ogka Y- i

far apart from each other and they | *sxe!! SU! leie i Juadis
achieved their present positions. o

(B) A scale used for measuring the intensity | &% 359 ¥ 848 wbide e

of earthquake, where it is a specific
measurement of the damage results by
the earthquake beside the reaction of
people by it.

O pabid Hlentl de oot (o g
2 i) e 559 J15I 5

21 LA 5
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38- Answer one the following (A) or (B): 13 () 9 (1) (13l A 50 YA
Choose the correct answer: + Jadd Aomoual | Al W1 45|
(A) Geological time scale is not complete | SIS o251 5! ol JLaS) e -

in one place due to......... | e aalaie gl A
(@) Presence of anticline folds Ao Slido 392 @
(b Unconformity surfaces aisieue ()
(©) Orogenic movements Ll 250 SIS o &g @
@ Extinction of giant reptile A8 Maalf a5 311 i 531 @

(B) One of the earth’s internal structures with | dwas o2, &l it olisall aai—o
a thickness about 2100 km and consisting | o= /s esks ¥1++ 31 dSou
mainly of molten iron and nickel. | e JSdly il Hsguae

@ Inner Core RIESNIRNIT
@ Upper Mantle ZLas (pe (s atalt s st

@ Outer Core — sl

©®OOo

@ Earth’s Crust s ¥V Byt

39- Answer one the following (A) or (B): 1@ () 9 (1) ot 13t A T3t -¥4
What is meant by: 123 Aguadial! Lo
(A) Tropism Selo ¥
(B) Biosphere. Sggumtl AMAN -0
22 alwd &b
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40- What would happen if ............... s e Gy 13le - € ¢
There is a different hardness of rocks on | ol> e Hsall D L
both sides of the river. S e

41- Justify the following: shenl B (ugele ,li jedll e gualy £
The moon light has a pronounced effect on g ol Gl 9t

animals living on the sea shores. -3oballons Jisls

42- Mention the importance of the s duasd] ,S31 - £ Y
following: ageid) e it Zold)
Building of nuclear reactors.

23 LA 5
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43- Study the given figure and answer the Loe coai @ I JSEN uyal -EY
following: b
(A) This figure represents ................... | = o JauY 392 el JSLI1 ¥

B (FEF
River stream

(B) What are the causes of formation of | cewlsrtois 555 ol ga Le :Lals
these clastic sediments? saglall

Why?. siLety (C)

24 AL s
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44- Compare between: 1030 IS Ot (L8 -8 8
Play of colour and cleavage, concerning | cus o pleass¥iy olsd¥ (oo
definition and give mineral examples. Oslaall (pa Alial )5 go oy pa)

Play of colour Cleavage
OIgI ¥ o e plaas ¥
Definition |
S L I .St B e [ b I 8
Example
-V R A SN W CALE A
45- “Granite and quartzite are two Ol g3 Cit 3G 51 95H g Sl padf -£0
different rock types” 1 y93uall (o Olalisne
(A) What is .tl.le texture gnd mineral (r ey s Slio ol L+ ¥4
composition of granite? § iinad| oS i g s
(B) What are the geological processes ‘,.dlsu:. S pumndl gt o Lo 1Lty
responsible for the formation of i gk 3&“
quartzite? and mention the produced L ° _s“ g
texture by these processes. el gl 9o Las

CIA 7 (VG o)l - A=alyol) dulinl) A





